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�������� ���
��
��� �, L, d

�� 621.837.7 
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���"������"� 
����#��� ��
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��
 ��
�!��� ���
#�

                      

������������������������

������������������������
������
��� 
                      

������ �����
dm ��������

���	
��

���. ���	�
�������


��!��� � �
������ ���
��
�������
��"���, ���

���$����. 
������� 
���"

%��
��� 

� ������ ��
��
� �������

                   �
����������������� �

������ � ��� �

�������& ��
         	
� � �

�����& ��
&#
��� ��
&#���

��	��� 
����
�

�
� �.�.,  ��
��	 
���
���

�"��� �����
����
��!��"�
, '
� ��
���
��������� 

"� ���� �����

1 – �����
��

�1� ��
����

�#��"� ������

��������
           

�� � �
 �
��
�����

� ���

����� �� � 


� ���
�

�������� ��
�

������ �����
�
�� �
��


�������

#���& ��&#�
& ������$���

 � ����
���� ��
���
��	
�
�������	 �

��������
� 
� ��"���. 
���� ��"

 �
��
���"� ��

�
����� �� ��

���� ������


� 1 � �����
� 2. (�����
!

� = �·OO1

�	 
����
�
 4
             ����

�

���
  ,              


 �

�������
� ,    
��
 �


�������


�� ���
����� 


������
�$�� ����, ��
� �
���


� �
 ������&�
 �
���!�� �����

���
�	�
�������
� �.�.,  �.�.
�������
���

������� ���
����
 �


���
��
!�& �
���
������ �

��
��� 1. 
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�!��� ���
#�
! $��
�� ��
�

1 = �1·PO1, 
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�
�
�� 
"����& ������
! ��
����
� �� �������� ����
" �"�������"� $��
�� �������& % 

�1 = �·OO1
PO1

 = �·3r
r  =3�; 

 
���
��
�
�����, 
"�� ������
� ������ � ��
����
� (���
��� 1) ��&���� ������
��� 
 

�1 = 3�. 
 

-�������
� 
���� - ��
����
� (���
��� 1) 
 
                              � = OO1·�os� + l·cos3� = 3r·cos� + l·cos3� = r(3cos� + �·cos3�),                                (1) 

y = r(3sin� – �·sin3�), 
 

"�� ����#��� � = l r! . 
-������
������ ���
���
�& ��� �������� 
����� - ��
�� "���$������� (1). /�������� ����
��!��� � �� 

��
�&� (�����&��� �� $��
�� �) ����
 ��� 
dy
dx

 = y
x
. 

0����!�
& ����! 
�������� (1), ������: 
 

3cos� – 3�·cos3�
–3sin� – 3�·sin3�

 = 3sin� – �·sin3�
3cos� + �·cos3�

, 

��� 

                                                 3 – 2�cos4� – �2 = 0, cos4� = 3 –�2

2� .                                                     (2) 
 
/"�� ������
� ��
����
� �
����
��!�� �����#��"� ������ (���
��� 1) ����� 46. (������
��!��, �� 

���� ������
 ������ ��
����
 ��������
 4 �����
�, � 
���� - ��������
 4 ��
��. -���� 
�������& (2) 
 
                                                                 � = ±�1 + n�

2 , n = 0, 1, 2, 3,             (3) 
 
"�� 61 – ������!��� ����#�
��!��� �����!. ��� 8 = 1,2  
"�� 61= 12,4°. 
������� �
����� (n=0)���
��
�� �����
�& �� 
�������& 
 

dy = r(3cos� –3�cos3�) = 0, 
��� �� 
�������& 

cos� =�·cos3�, 
�
�
�� 

                                                                           � = 13arccos(cos�
� ).              (4) 

 
9�������& � ������ ���
� 
�������& (4) (��� 8 = 1,2) ��������� 6 = 61 = 12,4°, �������� 6 � ����� ���
� 

11,8°. ���
���� ���������&, ���& � ������ ���
� 6 = 11,8°: �������� 6 � ����� ���
� 11,8°. 
<���� ����������& �
����� (n=0) ���
��
�� � ��!� � ����

�& �� 
�������& 
 

y = r(3sin� –�sin3�) = 0, 
��� �� 
�������& 

3sin� –�sin3� = 0, 
�
� �����������
�& � ���� 

                                                                           � = arcsin(�·sin3�
3 ).              (5) 

 
%���& 
�������� (5) ��� 8 = 1,2, ��� � 
�������� (4), �������� ��
���$��[1], ����>� 6 = 20,7°. �
��
� 


���
 ������ ��� 6 = 0. -�������
� 
���� - ��� 
"�� ������
� ������ 61 (3) � 
"���, ��������� �� 

�������� (4), (5), ��. � 
����$� 1, ����> ��
�� – �� ���
��� 2. 

 
<����$� 1 – -�������
� 
���� ���
��
�� 

 
 
 
 
 
 

 

@ 6° x r!  y r!  
1 0 4,20 0 
2 11,8 3,91 –0,082 
3 12,4 3,89 –0,081 
4 20,7 3,37 0 
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�����

��

�� 3 

���� 2015 

�&����, ��� 

���
���� �

� ������� 

�� 8 = 1 ���

��� 4.  

%�

(������, �

�� 685.341.83
�
	���

��

��� �� ����
������ ���
�
�!�� ������
������� ���
��������"� �
��� – �
"� ��
����� ������
� ���
��� 1 �

����� 8 ����
�������
�� 


���
�& ��
��

�
��� 3 – B�


�.0. -
�� ����

3:539.3/.6 
� �
��	

���. �����
�������

����� 
�����
�, ���������
������� �� �

��
�� ������
�
��#�&, – 
�
��
#���
�. ��
��� ����&���
������ �����

%��
�

�#�� ����
��

���� [1], ����


����� (8=1)  

(����
��� ��
���


	������

��	 �. �.,  �
��	 
���
���

����� � #��
����& ����

��"��� � �� �"
�
, ���
����
�������!��� 
�������
 ���
�� ���
�&��&
������� "���

��������
           

 
��� 2 C �
���

�!��� � ��
�

–1	 3 –
2

1	 �
���#����& ��

                     

�� �����!���
���. <.1 / �.0

�	�	 � «
�����

�����	
� �
�������	 �

���� ��
�� 
�#�
� ����
 
"� ������ ���
���� ��& �
 
�������� 


���� � ���
�

& ����
�.  
����, ��"�
#�

�	 
����
�
 4
             ����

��& (n=0) ��
�

�&�, �����&�

– �2

2� 	 1. 

�	 3. 
� ���
��� 3. �

          %��
��

����� ��
���
0. (������ – 

«���
��
�	� 
�.�.,  �.�
�������
���

�� ������� 
���
#���
 

�"����������
����������& 

��
"�� �����

����
� ����

����� �� ����

48 ���
����
�������� ����

�& 

��� �� ������

��� 8 = 3  
��

�� 4 –<����
�

����� 
	�����: ��
�

�����	�

.�., �	�. ��
����	 �����

����
�� – �
������!���

� ���"���� "�
����"� ���

�� �"�. ������
��� '
�� �
"

������ ���$�

��
��� ������
��
�
������

� ��������
. 

���
���& (1) �

���& (1) ��� 8

��, 1974 – 480
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������#��� �

8=3 

0�.  

���� 

�. 

#��
���
! �
���.  ��'
��
��
� ��
��.  
� ��� ��"��
���
��� )���
�. %��������

����� �����.
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